Sample Questions for Exam 2: solutions will be accessible on Sunday.

1. Provide JavaScript using an if or if-else structure causing the message “Smile and the world smiles with you” to be displayed in the text area answer when the user checks the box and clicks the button, but  “Frown and you frown alone” when the user hasn’t checked the box and does click the button.

<html>

<head>

  <title>if-else</title>

<script language="JavaScript">

<!--

function feedback()

{

if (document.mood.clap.checked)

{

document.mood.answer.value=“Smile and the world smiles with you.”

}

else

{

document.mood.answer.value=“Frown and you frown alone.”

}

}

//-->

</script>

</head>

<body>

<center>

<h1>

If-Else Example

</h1>

</center>

<h3>If you are happy and you know it, clap your hands.</h3>

<form name="mood">

<input type="checkbox" name="clap" > Check here to clap. 

<br>

<br>

<input type="button" value="register mood" onclick="feedback()">

<br>

<br>

   <textarea name="answer" rows=2 cols=30 wrap="virtual">platitude here</textarea>

</form>

</body>

</html>

2. What does the page whose source follows display in the results text box if the user types “40” in the num text box, then clicks the button?

<html>

<head>

<title>while</title>

<script language="JavaScript">

<!--

function calc()

{

var x=document.power.num.value;

var y=1;

while(3*y<=x)

y=y*3;

document.power.result.value=y;

}

//-->

</script>

</head>

<body>

<form name="power">

Please enter a positive number.

<input type="text" name="num" value=83 size=3>

<br>

<input type="button" onclick="calc()">

<br>

<br>

<input type="text" name="result">

</form>

</body>

</html>


The results box displays  27.

3. What does the page whose source follows display in the lots text area if the user just clicks the button?

<title>for</title>

<script language="JavaScript">

<!--

function mystery()

{

var num=document.huh.number.value;

var message="";

for(i=1; i<=num;i=i+1)


{


message=message+i+" ";


}

document.huh.lots.value=message;

}

//-->

</script>

</head>

<body>

<form name="huh">

<h1>Enter the number of asterisks you would like displayed.</h1>

(a whole number greater than 0, please) 

<input type="text" name="number" value=8 size=4><br><br><br>

<h3>Click the button.<input type="button" onclick="mystery()"></h3>

<br><textarea name="lots" cols=50 rows=2>?</textarea>

<input type="reset" value="reset">

</form>

</body>

</html>

 
The text area shows 1 2 3 4 5 6 7 8

4. True or false: The amount of RAM on a laptop indicates its ability to withstand collisions. False.
5. True or false: A gigabyte of memory is stores more than a kilobyte. True

6. True of false:  The Arithmetic and Logic Unit is a peripheral. False.

7. True or false:  The processor consists of the ALU and the control unit. True.
8. True of false:  A  2.4 hertz processor is standard for laptops. False.

9. Give a truth table for the compound statement (p&&q)||r.

	p
	q
	r
	p&&q
	(p&&q)||r

	0
	0
	0
	0
	0

	0
	0
	1
	0
	1

	0
	1
	0
	0
	0

	0
	1
	1
	0
	1

	1
	0
	0
	0
	0

	1
	0
	1
	0
	1

	1
	1
	0
	1
	1

	1
	1
	1
	1
	1


10. Give a compound Boolean statement that has the truth values in column  x below:

	p
	q
	r
	x

	0
	0
	0
	0

	0
	0
	1
	1

	0
	1
	0
	1

	0
	1
	1
	0

	1
	0
	0
	1

	1
	0
	1
	0

	1
	1
	0
	0

	1
	1
	1
	0


 (!p&&!q&&r)||(!p&&q&&!r)||(p&&!q&&!r)

11. Give the base ten representation of the base two number 110100. 52

12. Give the base ten representation of the base two number  1010101.85
13. Give the base two representation of the base ten number  77. 1001101
14. Give the base two representation of the base ten number  160. 10100000

15. The base two representation of a number is 110110110101011110010. Is it divisible by 4? No. It has a 1 in the 2’s column, so has an odd number of 2’s. A number divisible by 4 has an even number of 2’s.
16. Showing your work, and without converting to base ten, add the base two numbers 1011010 and 11110. 1111000
17. Showing your work, and without converting to base ten, subtract the base two number 1011 from the base two number 101101. 100010
18. Showing your work, and without converting to base ten, multiply the base two number 10110 and the base two number 110. 10000100
(You will be expected to show work.)
